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iBT TOEFL Listening

This section measures your ability to understand conversations and lectures in English.
The Listening section is divided into 2 separately timed parts. In each part you will listen to
1 conversation and 2 lectures. You will hear each conversation or lecture only one time.
After each conversation or lecture, you will answer questions about it. The questions
typically ask about the main idea and supporting details. Some questions ask about a
speaker’s purpose or attitude. Answer the questions based on what is stated or implied by
the speakers.

You may take notes while you listen. You may use your notes to help you answer the
questions. Your notes will not be scored. If you need to change the volume while you listen,
click on the Volume icon at the top of the screen.

In some questions, you will see this icon: {3 This means that you will hear, but not see part
of the question. Some of the questions have special directions. These directions appear in a
gray box on the screen.

Most questions are worth one point. If a question is worth more than one point, it will have
special directions that indicate how many points you can receive.

You must answer each question. After you answer, click on Next. Then click on OK to
confirm your answer and go on to the next question. After you click on OK, you cannot
return to previous questions.




1. Convers: Office Hours

TOEFL Listening
~ VOLUME = HELP oK - NEXT
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Questions 1~5: § ¢ Listen to part of a conversation between a student and a professor.
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Why does the woman go to see her
professor?

(A) To report that a student in the class stole
her paper.

(B) To ask him a question about the paper.

(C) To ask for an extension on the paper’s
due date.

(D) To ask him for advice on a mentally ill
roommate.

What is the woman’s problem with her
paper?

(A) She cannot find enough information
about the topic.

(B) She did not start writing her paper until
the night before it was due.

(C) She lost her paper when her computer
stopped working.

(D) She does not have her paper because
her computer was stolen.

What was the woman’s paper about?

(A) Problems with defining abnormal
behavior as mental illness.

(B) The treatment of mental illness and the
fostering of normal behavior.

(C) The history of illness in the Middle Ages.

(D) Definitions of acceptable behavior in
different cultures.

Listen again to part of the conversation.
Then answer the question.

What can be inferred about the professor?

(A) He is tired of hearing his students’
excuses.

(B) He understands that the students have a
stressful workload.

(C) He is very busy and stressed out.

(D) He does not have time to talk to the
student.

Listen again to part of the conversation.
Then answer the question.

Why does the professor say this: O

(A) To indicate that he does not believe the
student’s story.

(B) To offer the student an alternative way to
prove that she is not lying.

(C) To indicate that he does not have time to
look at a police report.

(D) To offer an alternative way to get credit
for writing the paper.

Actual Test 01
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2. Monologue | Anatomy

Questions 6~11: § ¢ Listen to part of a lecture in an anatomy class.
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What is the talk mainly about?

(A) The muscles of birds.

(B) The differences between red muscles
and white muscles.

(C) The different muscle compositions of
humans and birds.

(D) The distribution of red and white muscles
in athletes.

How does the professor introduce the two
different types of muscles?

(A) He explains the molecular differences
between the two types.

(B) He defines each type of muscle based on
its function.

(C) He discusses turkey meat to give the
students a familiar example.

(D) He traces the evolution of muscles in
different species.

Which of the following is NOT mentioned
as a difference between white muscles and
red muscles?

(A) Red muscles are more common in birds
than in mammals.

(B) White muscles have no myoglobin.

(C) White muscles are used for short, quick
bursts of motion.

(D) Red muscles are used for continuous and
slow activity.

According to the professor, how are turkey
and eagle muscles different?

(A) Eagle muscles do not contain myoglobin.

(B) Turkey muscles are darker in color.

(C) They have opposite muscle types in their
wings.

(D) Eagles have red muscles and turkeys
have white muscles.

Listen again to part of the lecture. Then
answer the question.

Why does the professor say this: O

(A) To introduce an explanation about people
with other muscle ratios.

(B) To emphasize that the majority of people
have the same amount of red and white
muscles.

(C) To indicate that there is some uncertainty
about the red-to-white muscle ratio.

(D) To provide the students with a hint about
what will be on the test.

What does the professor imply when he
says this: § §

(A) Research based on red and white
muscles is relatively new.

(B) The idea that genes affect muscle
composition is highly controversial.

(C) Muscle composition probably depends
more on heredity than on behavior.

(D) Training is the most important factor in
running ability.

Actual Test 01 7




3. Interactive | Music

 TOEFL Listening

Questions 12~17: § ¢ Listen to part of a talk in a music appreciation class.
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What is the talk mainly about? 5. According to the professor, how did

ragtime music differ from jazz music?
(A) The effect of the end of slavery on

American music. (A) Ragtime music became popular later
(B) How ragtime music improved upon jazz than jazz music.

styles by creating a formula. (B) Ragtime music had a greater influence
(C) The characteristics of ragtime music and on popular American music.

how it influenced jazz music. (C) Ragtime music had several different
(D) How ragtime was not taken seriously as subgenres.

an art until it became jazz music. (D) Ragtime music relied heavily on sheet

music.

. How does the professor explain syncopation?
Listen again to part of the lecture. Then

(A) By discussing the cultural origin of the answer the question.

style.
(B) By giving examples of musicians who 16. Why does the professor say this: O
used the style in their music.

(C) By providing details about the purpose of {A) To define the word "syncopated”.

syncopation. (B) To express disagreement with a popular

(D) By giving a demonstration of a SpuNon.
syHcapated MBSASUTS (C) To show how the word “ragtime” was
) derived.

(D) To imitate the rhythm of ragtime music.

Indicate whether each of the following
describes ragtime, jazz, or both.

Click in'the coFrect box for sach phrase. Listen again to part of the lecture. Then

answer the question.

~ [Ragtime| Jazz | Both

(A) Was developed by
African Americans. (A) She does not want to provide further

(B) Uses syncopated explanation about syncopation.
rhythms. (B) She does not mind talking about
syncopation even though it was an
unplanned topic.

(C) She did not expect that the students
would be interested in syncopation.

(D) She is interested in the various kinds of
syncopation in American music.

What can be inferred about the professor?

(C) Is often played as
piano solos.

(D) Uses a lot of
improvisation.

Actual Test 01
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Questions 18~22: O Listen to part of a conversation between two students.

10 |
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What do the two students mainly discuss?

(A) Meeting with a professor to ask
questions about an exam.

(B) Missing the Student Council meeting that
night.

(C) Planning the budget for the Student
Council.

(D) Studying for the upcoming economics
exam.

Why is the woman unable to attend the
meeting at 7:30?

(A) She needs to go to an economics review
session.

(B) She made other plans with her friends.

(C) She has an economics exam at that time.

(D) She does not want to go.

Why does the woman suggest speaking to
Clarisse?

(A) To invite her to join the Student Council.

(B) To find out if she is going to the meeting.

(C) To ask her for help on the economics
exam.

(D) To get better acquainted with her.

Listen again to part of the conversation.
Then answer the question.

What can be inferred about the woman?

(A) She dislikes attending Student Council
meetings.

(B) She does not usually go to Student
Council meetings.

(C) She had forgotten about the Student
Council meeting.

(D) She did not know there was a Student
Council meeting.

Listen again to part of the conversation.
Then answer the question.

What does the woman mean when she
says this: Q

(A) She thinks it will be convenient for her to
attend the meeting.

(B) She would prefer not to go to the
meeting.

(C) She does not want to miss the meeting.

(D) She does not want to do the man a favor.

Actual Test 01 11
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Questions 23~28: § ¢ Listen to part of a lecture in a media class.
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23. What is the talk mainly about?

(A) Difficulties associated with news
reporting.

(B) How different types of news agencies
arose.

(C) The formation of the Associated Press.

(D) How the telegraph revolutionized the
news.

. How did the newspaper business change in
the early nineteenth century?

(A) Employees became involved in the entire
process.

(B) Newspaper companies began to hire
less-specialized employees.

(C) Newspapers began to require full-time
reporters.

(D) Small newspaper companies began to
have a competitive advantage.

. What was the role of Charles Havas’s
company?

(A) To have different papers work together to
gather news.

(B) To translate news stories to be sold in
different countries.

(C) To run a telegraph service involved in the
sale of news.

(D) To stop the telegraph companies from
gaining a monopoly.

26. How did the Associated Press come to be?

(A) Several newspapers decided to work
together.

(B) A telegraph company expanded its
business.

(C) A translation service began selling
international news.

(D) Telegraph companies in the United
States formed a monopoly.

27.What does the professor imply when he

says this: O

(A) This man was involved in a news agency
he mentioned earlier.

(B) This man has been discussed in previous
lectures.

(C) The students have probably studied him
in history.

(D) The students probably have not heard of
him.

Listen again to part of the lecture. Then
answer the question.

28. Why does the professor say this: O

(A) To clarify the timeline of the lecture.

(B) To suggest Reuters caused the
newspaper industry to change.

(C) To give an example of a telegraph
company.

(D) To compare European news agencies
with American news agencies.

Actual Test 01 | 13




